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Answer Key - Tamil17

  

      

  3
-   M   
v

i




-   



- M
E
R

E


M

-        



-   

     



- 



- g(9.8ms-2) R
e
=6400km

V
e
=11.2kms-1 



- 

   





-     

 







  3

- 

 



- 



M
orbit

G
V

R


       
   6
     



 



     



  

    



  m 


 



    





g 

 

   



g


 “
” 
    


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    
   
   3
     

 



  



 

    



      



    





      



     



 



   

 



    

   

   



   

    



    



   1
  

 

  



  

    



    (ISS)
  (WRS) 
 (OGS)
   

   





   1
   





   





  







 (robotic arms) 

  

    



(biopsy)    
  

   



 

  



 





   

   

   





   
 1
    

    





 

    

  



   NASA 
Roskosmos ESA JAXA 
CSA 

  

    





     
  6



 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 520034
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 



 



      

 



     



 

    



     



     



     



    

   

   



  

    

    



   



 

    



   



 





     

  



   (v) 
   

 G ==6.67 x 10-11 

 M ==5.972 x 1024 

 R = =6371 
 h = 

     
 2
  





 x-


   

   



   1
    







    



  



100    



  1.5

 



 

   



 



 

 

  

   



 1.5
   



    

 



    

(Constellations) 

 

  



 



  

 



  



 

 

   


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    




      6
  

   



    

    



 

 

 




   



   



  



 

  

‘’


       


     
  6
   

   



 

 

    

  



- I  V  

-    

- V = I R
 R 
      

    



-  V   I  
V 
I

     
 4
    



  

   



 (I
o
)
   (I) 
   



 

    



 

   E.N.  

I = I
0
 cos2 

 

    

   



  

 I
o 


(a) 
    (a)  

a cos   a sin 

    

  



 a cos 



    

 



I (a cos  )2I = k (a cos )2

- k   I = ka2 cos2  I = I
o

cos2 
- I

o
=ka2



  2

  (i)   = 0o 180o cos 0o = 1

I = I
0
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  



 







- (ii)    = 90o cos 90o = 0I = 0

  







       6
 





    



     



 

    



   

(i
p
)



      

   

   



 (i
p
)   

(r
p
)  

i
p
 + 90o + r

p
 = 180o     ...................... (a)

r
p
 = 90o - i

p                           
...................... (b)

-    



p

p

sin i
n

sin r
 (c)

 n 
(b)  r

p
  





p p

o
pp

sin i sin i
n

cos isin(90 i )
 



= tan i
p
 = n

 

    





  

  

 

      
 
    
 2
 



      



 



    

 

  

 



     



   2
  



    



  

 



  



   



    



 



 A




 

   



  2
 

  

  



    

 

 

     



  

    

 


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   



     

   



 



    





  

(exposure-time)

       

 

  3

 



 

  





    

   





 



 

   

   



   3

  



    

  



 







    

     



 



  

   



 





 

   

  



    

 

 

    



 



  P = h g  (760 x 10–3) x (13600 –3)
x (9.8 –2) 1.013 x 105 .

 (atm) 
  (bar)




- 1 atm = 1.013 × 1051 bar = 1 × 105 
 1 atm = 1.013
     





   

    



   
a)               b) 

a)   3
    

 





 

 







 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 520038
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 (quarks)




   





    (gluons)
    





   “
”   
“ ” (Higgs particle)


 (Peter Higgs)
  (Englert)  
   

   

   



b)  3
 



   



  “”   
   



      



     

   



   







 

    

 

   



    

  

   



  

   

 

    



  

     

   





 



       

 





   



    

   

 

A* (Sagittarius
A*) 

    



      
 6
  


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 

  ‘’ 


    

 (qubits)  






 

   





    



     
   
  6
 

    



 



   



    

    



     





  



   



    







      



    2

  (m)    



  (w)   

 (N) 

    



 

   

 

 

 



  

mg

 m    g 



   



 



  

  

 

  



     
  5      

 

 

 

    

 

 4
 

 

 

 

 



 

 

 

 
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Test - 17| Answer Key  |Tamil

     

 

   

    



  

 



µ

 µ 




 L D   


 

 l d 


 µ 

d
L dD

D
L

  
l l

   

 

  



     

   

   



    1
 

 

 

 

 

 

 

 

 

 

 

      

  3

 

 (v
c
) 

   

  



   



     



c

vD
R






 

g z D. Öm R
c 
 K  

ñ 
v  
D-
ç-
   R

c  
 



     Rc
   1
  

 R
c
 < 1000 

 1000 < Rc < 2000 

 R
c
 > 2000 

 R
c-






 2
     R

c


    



 



  

R
c 




    

 

 

 



  

   

 





   
a)  
b)  
a)   3
 

 

     





   



   

   

  


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      

 



 

     



   



  



  

  

   

 



  

   

  



     

   



 





      

  

  

(tube of
flow) 

 





      

    

  



  

    

   





b)   3
    

 (v
c
)



  

    



     

     



   



    



     



     



 

   

   

   



     

 

   



  

     

   

  

     4

 



       (P)
 (Perihelion) 

 

(A)  (aphelion)
  “a” 

“b”
 



 



   (Law of area) 4

     







 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200312
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  

     



 

 

   

   



 



    





    4

     

   





2
2 3

3

T
T a

a
   



  T   a  


    







 

 





2

3

T

a




       
   
   6
 

  



 





 M-




  





    



1 2

2

Gm m
F r

r



 


(1)

 M
1
M

2


G G 6.67 x 10-11

Nm2kg-2 r M
1
 M

2


M
1
M

2


 F



 

   

   



   6
 

(action reaction)




    

 

 (reaction force)


 





     

   

   



 

   



- m
1
 & m

2
   

  



  

    

   


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 





   

(irregular & extended)


  





  





 M
   

 m   




    



 M 
  

    





     

  





 

M 
m
m

      

 
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 

  

   

 

 

    



 



 

   

(Rotation) 
    

 

 

    



   

 

 

  



  



 



      



   


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 

- 



 



-     

   



 

     



  



-      



    



    



     

 

    



- 

     



- 





 





 



  1
  



 



 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200314

Test - 17| Answer Key  |Tamil

 

     



 

 

  3
  

   



  



   



       



 

 

 

   



 

 

 



 

 

 



     


  3

     

  

    

     







 

    



  

 

   





 

    



     

 

  

 

 



     



 4
 

  

  



 

 

 

 

 S L v
s
 v

L



   



   

  

 



  ‘n’  
   n’ 


 n’ 

n’
L

S

v v
n

v v

 
 

 

  V    


     2
 

 

 

 

       

 




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      

  

 2
  

    



   



  (S)  (L) 


 (S) (L) 


  (S)  (L) 


   



   3
 

   



 

 

      

 6

 

 

 



 

   



  

   





   

 

   6
     

  







     ‘ ’


      
  
  3
      

    



 

    

    

  



 

      





    



    

  



     

  



    

   



  2
    

   



 2
 






   



  



     


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 







  

  



    





  



   



  



    

  



 



  1.5

    





    



 

 







     



 LC 


 



  1.5
    

   

 

     



     







 

   

    



 

LC


 



   2
     

  

    



 





     

   

   



      

  
 2
      

   



 

1 nm = 10-9 m
    





  2
     






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  2

 

  

   



  100nm   

 ‘  (Nano

solid)’100 nm

‘(Bulk solid)’



 

   



 ZnO 

 

 



    (reduced

dimensions)     

 

 (Quantum confinement

effects)  (Surface

effects)

    

 



    6

  

   



 

 

 

 

 

 

  

 



 



 DNA





 DNADNA

   

  





   



    

    



      







  

    

  



    







 



    



 

    



   

 

   



     

 (SEM) 



   

 



  

  

   

   






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Test - 17| Answer Key  |Tamil

   
 
    







   



 

  

 



  

    
  

  

    

   

 

  

  





  

  

 (Displays)  

  

   

  

 (IR )  

  

  

 

  

   

  

  

  

  

  

   

    

    

 (Anti fouling)



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 



    



   

  

   

    





     

   



   

  

   

    





     

   

 

   



 

   

  





     

 4
 



 

 

 

 

 3D 
  

 

 

   

  

   

   



    1
 

  

  

  



    3D 


   





    1
 





 



     



 

    



     1
 



    



 

   

   

  

   





 

  

    



   1
     

   

 





  

   

   

   



   3D  1
  

   

   3D 


    1
  

   

   

  


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    1
 



   



   

 

 

   



     1
     

 

(health
systems &patients) 


    

   



  

   



      
 
   4
  



   

 



   

 



 



   





  

  



 





 



  
 
   

    



  

   





 

    



 

  



  



  



  

    



    





 

 



     



     



    



    4
  



 

 

   



     



    

   



    



    

    



 n  
a

1
, a

2
, a

3
, ........ a

n


- 



n
1 2 3 n

m m i
i 1

a a a ......a 1
a or a a

n n 

  
  

   


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    4
  





    



   





 

    



    



      
 
  4
   (capilla) 
    



    

‘’

    



 

   

   



 

 

    

  



     

   



 



    



   



    





 



   



   



    





    





 





  

   



   
4

 



  

 (sap) 
 

    



    

  





      
 
 4
     

     

 

 

   4
     



 

 

 = 0 (A)     

 

 ¸< 90 (B)     

 ¸ > 90 (C)     
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Test - 17| Answer Key  |Tamil

  4
 





 



 

   



  4
 



 



 A B 
  x  x + dx
   

 v v + dv 


    

F 


 

 A 

   
dv

dx




F A & F
dv

dx

       





 

[ML-1T-1]  

       

  

  6

 



(extension)

   



 

   



   



 

  N m-2 

ML-1T-2 

   

6

    

   

 (pointer)




    

  ‘m’ kg  




 mkg
   

   



  

   
a)     
 

b)     
  



c)     
a)     
 5

 

      





 

       



 

   



 



 





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 52003 23

Test - 17 | Answer Key  |Tamil





 

 





     

(apparent radius) = R
s
 = 13.2 cm

   (apparent
radius) = R

m
 = 5.15 cm

 
s

m

R
2.56

R


 R
s 
= 2.56 x R

m

 R
m

 = 1737 km
 R

s
 = 2.56 x 1737 km   4446

km.
 4610 km
 


4610 4446

100 3.5%
4610


 

 



    



b)     
  

 5
 



 



     

  



  









c)         5
 

   

  

   



   

    



 

 



   





       

 
  2
 



  

    



 

    



 1
 

 



  





 

   



     

 



     



    



    

   

    



 



 1
   





    



 

     



 





 

  





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200324

Test - 17| Answer Key  |Tamil

    1
 

  

 

 

 

 

 

 

 

 

 



  

    

  



 

   

    



     

    

  



    



   



    

   



  



 



   1
 

 

  



     





     



    



 

   



     



 1
    

    

 



    

 



  



 1
 



  



 



     





     



 



  1
 

  



 

    

 



 



 





 1
 



      



   



 1
    



   



 

      


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 1

 



   

  



 

 

 



     

      



 1

 

 



 

 

 

    

 

 1

     



     



     



 

 



 



 1

 



 

 



 

    

  

   



    

  



   

 

       

 4
      



   



    







 r-
   



 q
1
 q

2



  q
2


 q
1
 



  r
12
  q

1
  q

2
  

k 


   2
 q

2
 q

1
  

   



     

q
1
q

2


  q
1
  q

2
  

   



 SI  
1

k
4 k



k 

9 × 109 Nm2C–2 

  1

  o 

  o 
1

k
4 k




= 8.85 × 10-12C2N-1m-2

    1
      

  





9
99 10 1 1

F 9 10 N
12

  
  
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Test - 17| Answer Key  |Tamil

 

      



  



     

µC nC




 1
 SI 

 

    

 



  . 

 



      



      

  > 1.

     
   2
 



 



    







     
   3
 



 q
1
 q

2
 

.

   q
2
 q

1
  



   



12 21F F 
 

     



     



   



 1
    

    

    



    



    

    



     



     
    
  
 3
 

  



   

   



  6
  

    



   





 

   

  



    

  

   

  



   

 


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 





    

    



    V
1 
 V

2



    



  

    





 



   

   

   





    

    



 



   



 





 



  
 6
   





   

 



  



  

   

 

  



    

   

   



  

 



   





 

   





   



   

    



   

    

   



      
    
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 





  



   



    

   

  



    

   



   2

  

   

  

    







 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200328

Test - 17| Answer Key  |Tamil

 

  



  2
 



   



  



  (Controller)   






  (Mechanical parts) 
  





  (Sensors)   

    

   

  

   

 2

  1
      
   
  
    


-      



-   



-      
    

  


-     

 


   
 


-     
 (Shape memory alloys)
 
  


- 
   


- 
 

-  
    


 
 
 
   
  1
 
  2. SCARA
   
   
  1
    



 
   


  


    


 


 1
     
  





 
 
 

1.   
2.   
3.   

4.   

5.   

6.   

7.   

8   
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Test - 17 | Answer Key  |Tamil

  1
 
     

   
   


    

   
   

 
    


     

 
   

DNA 


  

 
  




   





  1
    


    


     


    


    


 

   





 
  

 



  1
    


 



 

 



 

 





  



  



    



 



   
a)    
b)    
c)  
a)    
  5
    

   



  



  

 

     





 



 



 

 



     



b)    5
  



 



 





 

 

   





    

    


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Test - 17| Answer Key  |Tamil

  





c)   5
     

  



 



- f.p.s 
 





- c.g.s 
 





- m.k.s     


    



 cgs, mks SI 


 fps 
        


   2


     

   

  



     

  



    

 



 


F

A
  





 SI  (Pa) 
[ML-1T-2] 

 (Tensor) 
  2
   
   


 


    A 
  A 

-  F

  F



  



   AF
n 
  A

   F
t
   



    

 ( 
n
) 

nF

A
 


 





t
t

F

A
 




   



 1
  A     





    



  1
  A



   

   A



    



  1.5
 

   

 



     

 

P  


F = P  A

  F   
    



 

 2
 



 



 

 L 
  L 
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-    = 




l

l

 

 

 

  1.5
 L    
   



- 


  l

l

l





- 



 





 



 1.5
    



 AD F 


    

 (  s
)



 tan   
    

  



 1.5
 



 V 
V +  V

 



-   v
 = 

  1
    

    





    





     



   



      
  
  2
  

     

    

  



    



 1
     

   

  



   



 

   





    1
 





   



   



 

  1
      

  

  (Cohesive force)


  

 



 (adhesive force)  


   

  ( 10Å)  




   





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200332

Test - 17| Answer Key  |Tamil

(sphere of influence) 
  



 2

 A, B C 
A 
    

A 


 B     


  B  
    



 C 
    

   





 2
     

  C 





    



    





 

 



    



 





    



    3
    



   

   



     



    

    



     





    

     

 



 







  

   

  



 3
 

 

   

  toC 
T

t
 = T

0
 (1 -   t) T

0
  

0oC  


     

  

  

374oC.
- 

   





  

     

 n 
 t t

c 
 

   




